

Subtraction by decomposing

1)

$$\begin{array}{c}
 \boxed{56} \\
 \swarrow \quad \searrow \\
 \boxed{\dots} \quad \boxed{\dots}
 \end{array}
 -
 \begin{array}{c}
 \boxed{23} \\
 \swarrow \quad \searrow \\
 \boxed{\dots} \quad \boxed{\dots}
 \end{array}
 =
 \begin{array}{c}
 \boxed{\dots} \\
 \swarrow \quad \searrow \\
 \boxed{\dots} \quad \boxed{\dots}
 \begin{array}{cc}
 \text{Tens} & \text{Ones}
 \end{array}
 \end{array}$$

$$\boxed{\dots} \quad \boxed{\dots} - \boxed{\dots} \quad \boxed{\dots} = \boxed{\dots} \quad \boxed{\dots}$$

- Subtract the tens = - =
- Subtract the ones = - =
- The difference =

2)

$$\begin{array}{c}
 \boxed{84} \\
 \swarrow \quad \searrow \\
 \boxed{\dots} \quad \boxed{\dots}
 \end{array}
 -
 \begin{array}{c}
 \boxed{31} \\
 \swarrow \quad \searrow \\
 \boxed{\dots} \quad \boxed{\dots}
 \end{array}
 =
 \begin{array}{c}
 \boxed{\dots} \\
 \swarrow \quad \searrow \\
 \boxed{\dots} \quad \boxed{\dots}
 \begin{array}{cc}
 \text{Tens} & \text{Ones}
 \end{array}
 \end{array}$$

$$\boxed{\dots} \quad \boxed{\dots} - \boxed{\dots} \quad \boxed{\dots} = \boxed{\dots} \quad \boxed{\dots}$$

- Subtract the tens = - =
- Subtract the ones = - =
- The difference =

3)

$$\begin{array}{c}
 \boxed{48} \\
 \swarrow \quad \searrow \\
 \boxed{\dots} \quad \boxed{\dots}
 \end{array}
 -
 \begin{array}{c}
 \boxed{25} \\
 \swarrow \quad \searrow \\
 \boxed{\dots} \quad \boxed{\dots}
 \end{array}
 =
 \begin{array}{c}
 \boxed{\dots} \\
 \swarrow \quad \searrow \\
 \boxed{\dots} \quad \boxed{\dots}
 \begin{array}{cc}
 \text{Tens} & \text{Ones}
 \end{array}
 \end{array}$$

$$\boxed{\dots} \quad \boxed{\dots} - \boxed{\dots} \quad \boxed{\dots} = \boxed{\dots} \quad \boxed{\dots}$$

- Subtract the tens = - =
- Subtract the ones = - =
- The difference =